In this method the elements above diagonal are made zeros at the same time
that zeros are greaten below diagonal. Usually get on , that is
transform the coefficients matrix into diagonal matrix, when this has been
accomplished the variables can be computed directly without using backward
substitution, so we get on;

ap 0 0 x| |b
0 a, 0 |x,|=|b
0 0 aglXx b,
So ; xlz% , xzzb—,2 and x,=— . If matrix fornxndimension
&y

a‘22 a33

this method can be completed for the Gauss_Elimination Method.
Solve the equations system in previous example by Gauss Jordon
Method.
From previous example by Gauss_Elimination Method a form ;
2 3 1x 7
0 1 —1{x,|=|-1
0 0 4]|x 8

coeff .of x; in eq.(4 -
calculate d,asd, = 2N €G(4) _a, -1
coeff.of x;ineq.(6) a;,; 4

2 1 x
and ; eq.(4) - d, eq.(6) SO |0 1 0fx,|=|1
0 41 %
then; X, =1 (V)
calculate d,asd, coeff .of x, -in eq.(1) _ag 1
coeff.of x;ineq.(6) a,; 4
2 0 x
and ; eq.(1) - d, eq.(6) ,SO 01 0fx|=|1
0 X

2X, +3X, =5 (V)
coeff .of x, ineq.(8) a,
coeff.of x, ineq.(7) a,

calculate d,asd, =



2 0 0x 2
and ; eq.(8)-d,eq.(7) ,S0 01 0fx|=|1
0 0 4|x 8
X =2 ()
now from eq.(3) x =1 ,and fromeq.(V) x,=1 and ,fromeq.(}) x,=2
1
then X =1
2

Solve previous exercises using Gauss_Jordon Method and show
that the solution must be equal.
Find solution vector for system of equations, using Gauss_Jordon
Method:
X+ X, + % =3
SX +X, =2X%X; =5
X, +2X, +X, =4

In Iteration Methods (Indirect Methods), we need to calculate absolute and
relative error for variables vector at each iteration using Norm principle for
vectors, that in three types as;
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First Order Norm(L,):The sum of absolute values for vector's elements, which
denoted by L, (X)or|X |, for vector X as;
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for example for x =| 1| then IX], =l +-14+]-5+3 =10
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and vy =
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i then | X —Y[, =[x = vi| =% = ya|+ [ = o | + oo+ X = ¥
i=1

;

=[1-3+]-1-2/+|-5-1+[3-7]=15



